
Soluzioni parziale I◦ turno

1. Esercizio 1

• ϕ = 3

4
π.

• w′ = 4

5

−→
i + 2

5

−→
j .

• w′′ = 14

9

−→
i − 10

9

−→
j − 17

9

−→
k .

2. Esercizio 2

• (0, 0) /∈ W1.

• W2 non è chiuso rispetto al prodotto.

• W3 ⊑ R
3.

3. Esercizio 3

• βV = {(1, 0,−1), (0, 1,−1)}, βW = {(1, 1, 0), (0, 0, 1)}.

• V +W = R
3.

• V +W 6= V ⊕W .

4. Esercizio 4

• AB non è invertibile, AC lo è.

• (AC)−1 =





−1 −3 5
1 4 −6
0 −1 2



 .

5. Esercizio 5

• Per α = 0: dimW = 2.

• Per α 6= 0: dimW = 3.

6. Esercizio 6

• Per k 6= 0, k 6= 1: Sol(S) = {( 1

k−1
,− 3

k−1
, 2

k−1
)}.

• Per k = 0: Sol(S) = {(x, 2 − x, 2x) : x ∈ R}.

• Per k = 1: Sol(S) = ∅.
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